leaf nodeL: arrive[l] = 1;
CAwait (continue[lL] == 1); 0O
continue[l] = O;

interior nodel: [hwait (arrive[left] == 1); O
arrive[left] = 0;
CAwait (arrive[right] == 1); 0O
arrive[right] = 0;
arrive[l] = 1;
CAwait (continue[l] == 1); 0O
continue[l] = O;
continue[left] = 1; continue[right] =

rootnodeR  [Chwait (arrive[left] == 1); 0
arrive[left] = 0;
CAwait (arrive[right] == 1); 0O
arrive[right] = 0;
continue[left] = 1; continue[right] = 1;

Figure 3.14 Barrier synchronization using a combining tree.
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